Factoring Review Sheet

Tips for Factoring

1. GCF:
(Greatest Common Factor), LOOK for ALL GCF’s.  The GCF will be any common number and/or letters (variables) to all terms in the Polynomial.

a. We use one set of parenthesis ( ) for GCF Factoring.

b. The GCF is placed OUTSIDE the ( ).

i. i.e. 
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After performing GCF (or if no GFC is found) move on and look for:
2. DIFFERENCE OF PERFECT SQUARES:
a. Must be a binomial (if anything different – then can not be DoPS)

b. Must be subtraction between the terms.

c. Both terms of the binomial must be perfect squares.

d. Use two sets of parenthesis to factor ( ) ( ).

i. One set is + (positive), and one set is – (negative).

ii. i.e. 
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e. **Make sure the factors have terms in the same order as the original binomial.
After performing DIFFERENCE OF PERFECT SQUARES, try factoring using:

3. REVERSE FOIL
a. Used on a trinomial.

b. Use two sets of parenthesis to factor ( ) ( ).

SIGN RULES FOR INSIDE THE PARENTHESIS

c. Look at the constant term of the trinomial (last #)
d. If the last number is positive (+): both sets of parenthesis must have the same signs.  Both will have positive (+) or both will have negative.  This depends on the sign of the center term of the polynomial (second term).  Both parentheses will have the sign of the center term.
e. If the last number is negative (-) then the parenthesis will have different signs (meaning one will use a plus (+) sign, the other will use the minus (-) sign.

f. When the signs are different, you must be careful when putting the numbers into the parenthesis, because now one number is positive and one number is negative.  AGAIN, look to the sign of the second term for help.  If the second term is positive, the larger factor must be positive…If the second term is negative, the larger factor must be negative.

4. Factor By Grouping
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5. Expanding to 4 terms when coefficient is not “1”
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Name:  ________________________________

Remember Factors are multiplied together to get the resulting polynomial.  
Solutions or ROOTS are what “x” (or the variable) equals NOTICE THE “= 0” ON THE END.
	1)  What are the factors of 
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	10)  Factor:  
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	2)  Which expression is equivalent to 
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	11)  The solution set of 
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	3)  Factor:  
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	12)  The solution set of 
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	4)  Factor:  
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	13)  The solution set of 
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	5)  Factor:  
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	14)  The roots of 
[image: image14.wmf]2

2150

xx

+-=

 are?

	6)  Express 
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 as the product of two binomial factors.
	15)  The roots of 
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	7)  What are the factors of
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	16)  Find the POSITIVE root of
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	8)  Express 
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 as the product of two binomial factors.
	17)  Factor:  
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	9)  Factor:  
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	18)  Factor:  
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Group the first two terms together, and the second two terms together.  (In this problem, the second grouping factors out a negative so we have to change the sign in the parentheses).  Factor out the x – 3, and the remaining is the other factor x2 – 9.





When the coefficient is not one, use expansion to solve.  Multiply the first coefficient by the third coefficient {(3)(-2)} = (-6).  The factors of (-6) that make a sum +5 (the middle term) are (+6)(-1).  So insert +6x and -1x for the +5x and now factor by grouping 
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